2.5 The Power Rule
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| Find f'(a) for each function at the given value of a.
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[ Find the equation of the tangent line of each function at the given value of x.
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[ When do the two functions listed have parallel tangent lines?

18. f(x) = x? and g(x) = x°
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= +/x and g(x) = x3. Use a calculator.
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22. Given f'(x) = %and f(2) = 5, write an equation for the line which is tangent to the graph of f(x) at the point
where x = 2. / -~ -
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23. In the figure to the right, line L is tangent to the graph of y = x* at
point A with coordinates (a, a*). Line L crosses the x-axis at point B, y“ L
with coordinates (b, 0).
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